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2N
X ZH -
L= B
el

4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 MtXISHHE =01 & 90,000 90,000 0
01 XM A=2E X 90,000 90,000 0
OZRA G LFEXI 22 90,000
SNSRI A 1,939,200 1,939,200 0
J| 1,616,000
< 323,200
308 XtXIEHH SOl A 1,939,200 1,939,200 0
J| 1,616,000
< 323,200
01 X HHILEES 1,939,200 1,939,200 0
OguRRaA 1,939,200
J| 1,616,000
< 323,200
Jt=THoll 2 & 100,000 60,000 40,000
308 A EHHSOIA 100,000 60,000 40,000
01 HIXNHHNBMNELS 100,000 60,000 40,000
ON=ETol 2 100,000
Loy =4 300,000 210,000 90,000
308 X EHSOIA 210,000 210,000 0
01 HIXNHHBNEES 210,000 210,000 0
oxsstzAz 23 140,000
O=Y L¥(gs .42 S) = 70,000
403 UHXSHHSA=0l& 90,000 0 90,000
01 X SHMA=E X 90,000 0 90,000
Ogs MAE Mel&dl K& 90,000
IS ALY 90,000 90,000 0
308 XXM SO0l A 90,000 90,000 0
01 IXNHHBNEES 90,000 90,000 0
Olns" WX HAHN Z5 90,000
SAAE SUS ALY 324,360 326,700 A 2,340
403 XIS E X201 E 324,360 319,500 4,860
01 X SHHA2E= 324,360 319,500 4,860
ONEANEB(SAE) SUS 120,000
ONaRF JI=Hs HSAE X2 108,000
OFAUE HRASAIE &1 81,360
OSA &2 OoigdXl Ald &X 15,000
SNMFIEEXN Bz 8,400 7,200 1,200
308 XX EHSOIA 8,400 7,200 1,200
01 HIXNHHBNEES 8,400 7,200 1,200




A &
Bu: MY AR
CHel Bae M s (el @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| OFMHAFEX 23 8,400
sS4 J|EE X4 8,425,900 9,391,060 A 965, 160
| 4,979,250
= 3,446,650
IIE=ER2 HEXel AL 986,000 375,000 611,000
| 986,000
403 XIS E X201 & 986,000 375,000 611,000
| 986,000
01 AXSHMA=2EE 986,000 375,000 611,000
ON=E2=HE XMelAlg 986,000
| 986,000
HEE AZMEXEA 23,250 0 23,250
J| 23,250
403 Ut S S X201 & 23,250 0 23,250
J| 23,250
01 XXM A=2E £ 23,250 0 23,250
OFE ZZMNARE 23,250
| 23,250
HHINMEE &X 366,900 476,000 A 109,100
| 187,000
< 179,900
308 XXM SO0 A 86,400 0 86,400
01 AXNSHHBLEES 86,400 0 86,400
OUHIMEX =2 LSH 3= 86,400
403 XIS E X201 & 280,500 476,000 A 195,500
| 187,000
< 93,500
01 AXSHMA=2EER 280,500 476,000 A 195,500
OMHIMEEX &X 280,500
| 187,000
< 93,500
My RS H 80,000 0 80,000
| 60,000
< 20,000
403 XXM S X201 80,000 0 80,000
J| 60,000
< 20,000
01 AXSHMA2E = 80,000 0 80,000
Od%HlssS4dH 80,000
| 60,000
< 20,000
oHH| & Z H] 295,000 290,000 5,000
| 295,000




N L1
HE: S0 BHOH
Sel: HBASN OB X4 (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 295,000 290,000 5,000
J| 295,000
01 IXNHHBNEES 295,000 290,000 5,000
Oyl & xZdl XA 295,000
J| 295,000
=2 SSTUHES AME 1,380,000 690,000 690,000
J| 1,200,000
< 180,000
403 XIS S X201 & 1,380,000 690,000 690,000
J| 1,200,000
< 180,000
01 X SHHX2E= 1,380,000 690,000 690,000
O=E2x EsXAs A4 1,380,000
J| 1,200,000
= 180,000
=N 22 100,000 100,000 0
308 A EHHSOIA 100,000 100,000 0
01 HIXNHHNBMNEELS 100,000 100,000 0
ON=dzHM 32 100,000
MY E=E BHED 30,000 0 30,000
J| 30,000
403 UtXISHH S =0l & 30,000 0 30,000
J| 30,000
01 HIXSHMA2E X 30,000 0 30,000
O%H =S EHD| 30,000
J| 30,000
FAR M A B B E A 3,473,200 5,794,000 A2,320,800
J| 2,198,000
< 1,275,200
308 XtXIEHHSOIA 3,093,200 4,274,000 A 1,180,800
J| 1,998,000
< 1,095,200
01 AXHHILEES 3,093,200 4,274,000 A 1,180,800
OZ A - H&EHelbl 683,200
J| 488,000
< 195,200
OAt el Xl M Z=Hl 2,400,000
J| 1,500,000
< 900,000
O=XZ=4d & JIBAlE X& 10,000
J| 10,000
403 XIS H S X201 & 380,000 1,520,000 A1,140,000
J| 200,000
< 180,000




EEISIEE (29l & 2)
SA BB (3H) - NRAY - B ﬁlgﬁ HRE2
01 XIS A 2E X 380,000 1,520,000 A 1,140,000
OxANE Z2EH & 380,000
Jl 200,000
== 180,000
A MADIBE XM 456,000 398,400 57,600
308 AMXISHMSOIA 60,000 60,000 0
01 HXHHIMNEEXTZ 60,000 60,000 0
OSHA2IZAIL X WEXRA 60,000
403 XX SHS K20 & 396,000 338,400 57,600
01 XIS A2E X 396,000 338,400 57,600
OS5 ==&d X& 270,000
OXAE JIZ2AIE B 45,000
OMA ZAlE MAMABE AX XS 81,000
OHOZHO0l& = 579,150 579,150 0
308 AXIEHSOIA 579,150 579,150 0
01 AIKISHHEMNEXZ 579,150 579,150 0
OANZZEZ2 THEHE X =4 579,150
AEdE sSMsI 4 54,000 54,000 0
308 MXISHMSOIA 54,000 54,000 0
01 IXHHIMNEXZ 54,000 54,000 0
OFsASAMZ 0S5z 4 54,000
SAAE SHHINA 566,400 634,510 A68,110
403 XX SRS K20 & 566,400 612,400 A 46,000
01 XS A2E X 566,400 612,400 A 46,000
OREHAZA AIAEH B2 390,000
OJIsEsXe AINEZU B3 90,000
OHA =2 X2l & 32,400
OJIsdMH Ol2 =8E& stal(AlY) 54,000
22 TMRE2E IEsAd X 36,000 0 36,000
403 XX SHHS K20 & 36,000 0 36,000
01 XIS A=Z2E X 36,000 0 36,000
O=2% TMREZE XIsS3HAIE X & 36,000
MM Y RSIIE &5 1,968,466 2,579,673 A611,207
= 36,800
J| 1,035,143
o= 896,523
SNE FSI|E &= 291,000 91,000 200,000
206 M = dl 60,000 0 60,000
01 X2 8| 60,000 0 60,000




2N
X ZH -
L= B

el

5 - 4
SA BB (3H) - NRAY - B Ol &F o4 %@i HRE2

OXSEAFZANZE THM XN 60,000

307 QI2t0| & 91,000 91,000 0

04 Q2 AIE XS 91,000 91,000 0]
O&= 2£=FA2 HAEYE X 27,000
OEE SN22UE FAEE 40,000
OE= =429 244 28 24,000

403 XX SHHS K20 & 140,000 0 140,000

01 XIS A2 X 140,000 0 140,000
OF&tH stsN)| 2Tl X 140,000

SEEHAE ol24d] A& 914,000 708,300 205,700
J| 549,000
& 365,000

307 gizto| & 914,000 708,300 205,700
J| 549,000
& 365,000

02 It A X2 914,000 708,300 205,700
OEEHAE o1AHdl XS 914,000
J| 549,000
= 365,000

= MEs K S X (HACCP) AHS 156,800 274,400 A 117,600
J| 128,000
o= 28,800

308 XX SHHSOIH 156,800 274,400 A 117,600
J| 128,000
=} 28,800

01 AIXSHMENEXZ 156,800 274,400 A 117,600
O=SAZ & XK 2 (HACCP) ALY 156,800
J| 128,000
= 28,800

A DI0IEH 465,586 479,973 N 14,387
J| 358, 143
= 107,443

308 XHXIEHSOIA 465,586 479,973 N 14,387
J| 358, 143
= 107,443

01 AIKSHMEMNEX= 465,586 479,973 N 14,387
OADJ] Ol H(HELEH]) 465,586
J| 358, 143
= 107,443

EMSN2AS H2AIY 96,000 66,000 30,000

201 2Et2Ay| 6,000 0 6,000

01 AP 2t 2] H| 6,000 0 6,000
OSNSHITYAL MY B ME 6,000




EXN: Fat
Bu: MY AR
et OEMNAS U SEIIN HE (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
308 XHXIGH SO0l & 90,000 66,000 24,000
01 AIKISHENEXZ 90,000 66,000 24,000
OQOHAME A Heldlg X 90,000
SNMSEAH A HACCP A 45,080 0 45,080
= 36,800
=} 8,280
308 MXISHMSOIA 45,080 0 45,080
= 36,800
= 8,280
01 IXHHIMNEEXTZ 45,080 0 45,080
OFMNSEHE HACCP A 45,080
= 36,800
& 8,280
s e YA 9,562,490 7,692,517 1,869,973
= 7,280,421
J| 873,598
== 1,408,471
MY, RFUEFAHI} YA 566,200 566,200 0
201 et 9| 4,600 4,600 0]
01 AP 22| H| 4,600 4,600 0
OJIsetdEg s M B2 3,000
ORME, Al SEM4EASH S| 1,600
308 MXISHMSOIA 501,600 501,600 0
01 IXHHINMNEEXTZ 501,600 501,600 0
Oaxs2uE 8 ¢ 120,000
OFME HLES LSAE 291,600
OXFOUERUI ol HAS2LH 23 90,000
403 XX SHHS K20 & 60,000 60,000 0
01 XIS A2E X 60,000 60,000 0
O=s&&Ed R ANEALAED| &K 60,000
=LA ALS 3,814,635 3,151,813 662,822
== 3,780,421
& 34,214
308 XHXIEHMSOIA 3,789,635 3,151,813 637,822
= 3,755,421
& 34,214
01 AIKISHHEMNEXZ 3,789,635 3,151,813 637,822
OJF0EL=A & J|MEs 2H 3,327,033
= 3,327,033
O B242tY MHEE2EH| 195,090
= 195,090
OFMXE SEMH 24 148,262
= 114,048




N L1
Bu: MY AR
Sl DS e ALY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
< 34,214
OHXNAELEE XNEXE ALY 30,000
= 30,000
OOiS Xl At=2tel 89,250
= 89,250
403 MtXISHH S =0l & 25,000 0 25,000
= 25,000
01 XM A=2EE 25,000 0 25,000
OA=ZH =2 25,000
= 25,000
YU - ASAAE 25 568,735 1,173,434 A 604,699
J| 516,598
< 52,137
308 XtXIEHH SOl A 568,735 583,934 A 15,199
J| 516,598
< 52,137
01 AXHHILEES 568,735 583,934 A 15,199
O=s&HE Al 312,822
J| 260,685
< 52,137
O3sZLHE 2gHl 255,913
J| 255,913
YA 2F 259,920 87,000 172,920
308 XXM SOIA 151,920 84,000 67,920
01 IXNHHBAMNEES 151,920 84,000 67,920
OBF=2A A& SXA 97,920
OFH Al JtaEd 2 EHItgl M 4,000
O==E3HYH 29 50,000
403 Ut S E X201 H 108,000 0 108,000
01 X SHHX2E= 108,000 0 108,000
OHAMIE Ml =8 &X 72,000
OAxA=E YIAHH E= 36,000
T2 IEdgY 2H 253,500 189,570 63,930
308 XXM SOIA 253,500 189,570 63,930
01 IXNHHBANEES 253,500 189,570 63,930
OXAx BAZI ALE AL 36,000
OXA BHE HEe8A 23 28,380
O2H HEE HlEAY 78,870
OL=E g8 e A 49,500
OdEsJh HWal & ZHu 60,750
SSHAZ Al 2,000 2,000 0
206 M= Hl 2,000 2,000 0




EXN: Fat
HE: S0 BHOH
Sl ISP ALY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 X2 b 2,000 2,000 0
OS82 UET ZAIE =HH| 2,000
MAYEBEAZ 3,500,000 2,000,000 1,500,000
= 3,500,000
308 XX SHHSOIH 3,500,000 2,000,000 1,500,000
= 3,500,000
01 HXHHIMNEEXTZ 3,500,000 2,000,000 1,500,000
AXE BAZS 3,500,000
= 3,500,000
fsfMgtaExazse A 595,000 0 595,000
J| 357,000
& 238,000
307 2Iz2to| A 595,000 0 595,000
J| 357,000
== 238,000
02 It A X2 595,000 0 595,000
OJIEdudEragzse 849 595,000
J| 357,000
= 238,000
HtelssEsh 29 2,500 2,500 0
201 gEt24Ay| 2,500 2,500 0
03 Al A H| 2,500 2,500 0
OtteissEss 29 2,500
WHog &4d3t 6,264,000 2,780,250 3,483,750
= 488,000
2 1,008,000
& 4,768,000
W4 og s4 6,264,000 2,780,250 3,483,750
= 488,000
2 1,008,000
= 4,768,000
=™ o3 atetd X XI& 215,000 268,750 ANB3,750
= 200,000
& 15,000
403 XX SRS K 20| & 215,000 268,750 AB3,750
= 200,000
& 15,000
01 MXHHXNE2BE =X 215,000 268,750 AB3,750
OW=™ ol ZBArtE AX| 215,000
= 200,000
& 15,000
NS HAIY 279,000 217,000 62,000
= 225,000
= 54,000

«©




AN e

o 4S0{ 25
ool 40 oY SA (el @2)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 MtXISHHE =01 & 279,000 217,000 62,000
= 225,000
< 54,000
01 XS M A=2EE 279,000 217,000 62,000
Oxszeldgdss 279,000
= 225,000
< 54,000
SAMEZHL YR 315,000 315,000 0
& 280,000
= 35,000
308 XtXIEHH SOl A 315,000 315,000 0
= 280,000
< 35,000
01 AXHHILEES 315,000 315,000 0
O=&ZSRMHYEF 315,000
& 280,000
< 35,000
ANHEFISH TA 35,000 35,000 0
& 28,000
< 7,000
403 X SHHSA=0l& 35,000 35,000 0
& 28,000
< 7,000
02 S| 2 S0l CH &tHCH & A H 35,000 35,000 0
OXHER SWEA 35,000
= 28,000
< 7,000
ALY SRS ALY 79,600 137,000 A57,400
= 55,000
< 24,600
308 XXM SO A 79,600 137,000 A57,400
= 55,000
< 24,600
01 AXHHIYEES 79,600 137,000 A57,400
OSAILHY HESH ALY 79,600
= 55,000
< 24,600
Hzogel otdxgy Jlgtxd 27,000 18,000 9,000
403 A X EHHSXH=0l A 27,000 18,000 9,000
01 X EHHMA=E L 27,000 18,000 9,000
Ozl etdxy Jlgtxd 27,000
EXNAMHE =S HAILZ 16,000 10,000 6,000
308 AHAIEHHSOIA 16,000 10,000 6,000
01 HIXNHHNBMNEELS 16,000 10,000 6,000




N L1
FM: U=+=BH0Y 243
S U= g s4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ORMI52l Z=XIAtH M= SHAICHE] 16,000
SRR d 2 252 132,500 125,000 7,500
308 XX EHH SOl A 132,500 125,000 7,500
01 AXHHILEES 132,500 125,000 7,500
OEZEES0N SRS & gy g= 50,000
OESOHRE XY EF N 40,000
OUl== MEHH WetHEs RHALE 30,000
Ozazd 20d 54 Atg 12,500
A HZHY S4d 40,300 19,300 21,000
308 XXIEHHSOIA 19,300 19,300 0
01 IXNHHNBNEES 19,300 19,300 0
ONgo =&dlzs & FENS 3,300
OLAOYY £M%E U FAZY B3 16,000
403 Ut SHHSA=0l& 21,000 0 21,000
01 HXSHMA2E X 21,000 0 21,000
OU =2 A H FAUH HIIAE HHl A 21,000
SAASAY HEHI ZLHAY 5,063,000 800,000 4,263,000
& 700,000
< 4,363,000
401 Al BIZ 201 8] 2,734,000 0 2,734,000
01 A& HI 2,734,000 0 2,734,000
Ot ASMANEHN ZLH2X EX0HE 2,734,000
403 A X EHHS =0l A 2,329,000 800,000 1,529,000
& 700,000
< 1,629,000
02 S| 2SO0l CHEHCH & Ar Bl 2,329,000 800,000 1,529,000
OMASMIAAHNEFHIZE AL 1,400,000
& 700,000
< 700,000
OMASMANFHI ZL2X It s 929,000
L= =M ESTA 2te 11,600 5,200 6,400
= 8,000
< 3,600
308 XtXIEHH SOl A 11,600 5,200 6,400
= 8,000
< 3,600
01 AXHHILEES 11,600 5,200 6,400
OU==8 ={GRAES A 2tel 11,600
= 8,000
< 3,600
SE=E W=BH0Y ST oL A2EY 50,000 0 50,000




AN e

FM: U=+=BH0Y 243
Sl LA 0S4 (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
207 Ao H| 50,000 0 50,000
01 289 50,000 0 50,000
OSEEE U280 ST e o7
29 50,000
HYSABH (4 56,520 66,024 A 9,504
Jl= &l 56,520 66,024 A 9,504
Jl=dl 56,520 66,024 A 9,504
201 Let249H] 17,220 20,664 A3,444
01 At 22l 17,220 20,664 A 3,444
OJle=+=&Hl 7,240
OPIEI=1i:] 9,980
202 04l 37,800 45,360 AT7,560
01 = LH Yl 37,800 45,360 A7,560
OJlE0 37,800
405 XHoHF S HI 1,500 0 1,500
01 et ESFH S 1,500 0 1,500
OLES ARH 2¥ 1,500




